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TRIGONOMETRIC FORMULZE
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Right Triangle s Oblique Triangles

Solution of Right Triangles
o 4 b
For Angle A, sin = = , CO8 == —'.iau= a—,cnt = 2 sec = 2 coseg = -
e ' b a’ u' a
Given | Required | ; 3
a, b | 2 B! tan A - % 1 v
| | —
- M
a ¢ A, B, b | sinA- =coaB,b=\/(c—i-a'j.(c—a)=a\/1—aT
; ¢
|

@

A, a B, b ¢ B=9OD‘—A, b=acotd,e=

Biti xl.

.

cos A,

Ae |Boa b B=90"—A4,a =c¢sind, b=ccos A,
Solution of Oblique Triangles

Given | Required | , _aginB asin O

A, B,a|b e U | z’—m.(?:lBO—(A-{-B),c:

A b B,a ¢ B=90°—A,a =btan A, e=

sin A
1 b . . .
A 6 b |Be C | sinB= beind 5 _ 180°—(4 + B),0 = asin.0
a sin A
A4+ B=180°— 0, tan } (4—B)= 2180 KA+ B)

ad 0| A4 B¢
| a+b

|
_ @sin o
sin 4
a+d+e . (s—D)s—e)
a b ¢ . e }.’1:.\/—})6——"
%B':V”(——z"’";(’c'° ,0=180°—(A+B)

sin

b, ¢ | Area | 8:(——“I+b+c, area = A/3(3—a) (5—10) (3—0)
a, ] 2

- _bosin A
area = —5——

|
\ 2 i B 2 0
A, B, O,a| Arca ‘[ drea = %LE——

REDUCTION TO HORIZONTAL
Horizontal distance==Slope distance multiplied by the
e cosine of the vertical angle. Thus: slope distance =319. 41t
a0 Vert. angle=5° 10/. From Table, Page IX. cos 5° 10/=
s ,9959. Horizontal distance=318.43 9956=318.08 it.
Horizontal distance also= Slope distance minus slo
distance times (1—ecosine of vertical angle), With the
same figures a1 e Drscedlng oD T e o
i ing result is obtained. Cosine 5° 10'=.9659, 1—.0050=.004L
Horizontal Alstayck 319.4>¢.0041 = 1,81, 819.4—1.31=318.00 It. )
When the rise is known, the horizontal distance is anpx‘pﬂmatel‘{l:‘-ihe slope dist-
ance less the square of the rise divided by twice the slope distance. hus: rise=14 ft.,

slope distance=302.6 ft. Horizontal distance=3026— %ms—asz:mu ft.

. ’ Area
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